izzejw
C
K

224.93) i
w32¢
o

~N

N

D NERE | AN

ﬁ/ﬁg\ N\

‘ w%:l %ggzg m2 woéoz.smc//;;/ A8 26.32 ‘o < N /_g “%
/ 2555 26 50\\ \2 Xam 180 o ; 5518 ) bt Qg S /
/ & \\ 22144 _226.5 % : 5023 o N = \\ ’ s §
- 4 200 A 5252c2 45 = _4.922“‘ i /2 . 22485 m o = g \g{ < -
/ - © O \Y s 494 276.3f : 1 A 8032624 82 5@-/1 g S 2 : § z
| 3) Y . : s > °
T \ o /I g @ RS S N-NIE
N 14876 t 798 = < g8 ¥ |NE =
O Br 3 //vv \ roj.w, / 5 / 0 . E E L._,R 2 % § g\ %
D m2 ] \ \ m4295 s6 4 . g, {)/o - c g 509/51.X &g N\ % g ; % .% § B
SN 5 =) s
D: N \ \ nmf???c . B/ ‘o, g © g 897w 3 \glg < § &= g‘éf
\ c Q © 226.0 S » &g g\‘&% 9
< \ Is) 2141 woA 5 g = -8 g = g 8% y
™ \ ¢ 1 509/636 & £ Ss 2% g L
O | © T - 2T g2 filavls
8416 \ \ e / - » T N g é N/ 2
< \ \ =~ 2 5 x ¢ & 2 2 §o 71 % -
N o € &» < ¢ = A
—_— 228.69 ! 226.3 S © N © S - ‘
o 22554 5582 3 2 224.41 g x - = 4 g g s
Z o Ks80D % = S 226: S Lo~ D
! < LO 22660, LW Qze. j VE OAZ0e— O = oz \'E = |.
N O I NN TN =N - N o 9yl | ESE B
; : o - = <O |z =
s s \ E/EE 5. < % %8 > o8| [T F
© 65 800¢/ = 0 S > 9 9 & ~X 226.30 ) =
O — e 55 o/ Yo 226, i © 22441 |5 g =
© . Q 50 © [ 43 22653 L/ f/c 2482 )
x ‘?‘)“ HdD1idoc ‘J .ZXi_QZ x o] .E2 WO-__SC a _? S o 22 o On > S |
n ‘ S g §E =~z 8/ o e ANl N i
~ 203 451 2245 = ™ g 35 : 5 z \‘?& i
B 200P6/624 9 40| \S 24§4' S 5 w N /a a & =2 o ,L—) E 6 8le3R N
m2 Y S 5k0el 1740 ||| X © o /= = O O : ol
{ 20 | ° ] / ny 0 22@ - 2 NN
., 203000 2492 i ~_/ / / C2 ” Eﬁi N \\
| ! = < &
\26.2 |1226.48 K i |] D @: N
4 1P4.:90 ! a|se
N o4p/rq | n2 32
20031 s Piswa B8 N
B2 6.2 k%_ G Il = o3 / 226.1\ 2‘3 § %3
\ " Kopiec profektowanego odCinka IR L LR - : =3
(al o .00 % | aton 9085 § E g s |8 é I
1 kd100g rad\\ ] 26. 2.00 S0 509/73 & §
22600 od | = m Er—js W prawo
5284 & v *’gf [ fldseac %00 glgl= 2,8669 2200 7852 ;
kel 28 Nasole | 1 % X(N)= 9598260,395 o) 2257 [~}
0 22 %
, e . Y(E)= 652119849 )
i
0 I
225
m2
~I
! L2256
- 225.6 ]
1606
225.40
22453
X 509/97
136
Ml
g
2! . 4z
) 25.9
> 2‘3‘,;3‘
2369 w 225.50 57
oc ) .\\
22 o N
' 00 %Z?t:
Q:
\ -~
~|
ke
\ OO')_ o (&P K 0+104)10
23 | |apsooe
Q HSOWy,,,,é;;g'B e W 5 X(N)= 5598193,91
Mowe - PL Y(E)= 6521206,44
4 a6 5. > K 0+095 )
™ S5 28 | a0
Bty 7/ -
0.507 < (™
2o Zalom
I
OdWOd,,' , 59711 4- W lewo
ey < 00 enje
Wia Pl olg)= 16,3507
/ iy 0’(08 X(N)= 5598176,52
! 2 22 29 |Y(E)= 6521203,92
6.06 ’(/Z/( 0
i 8y L0y
5.55 Y ist ’88
ls
650\ | slh
W 422 ..__R30.00
' '! \\% N +(08,1V
, 5 - AN -16
‘& 2299 i 5.0 \‘ o0 8 Bwl
| \ + ! 22’:‘ Y \ o +
' N\ < O i2 227.0 . 2 t) w ]
=7999816¢2, 11,44/5 ELG %%é_ 7 V& P\
. N YIFI=:6521196,98 i ! o
\ i: 4,00 A ( .« 2277 Y “A” . 6.\ \ 67/1 D-5
N\ Y \ NI A \\ - tlew
\ / L(( ] (V)
7 - 100
. b2 g \\ s3pch | AR 4267/1 X ‘ia
221, st : \ 33 -
/v Q \ ‘.\ | ﬁ(ﬁ - RN ~
s g | e o - -~ N
T2 P - - ~ =
. // Bz \ 32567, s /16/ - ~N
/. . C-
) |1 O:
0% YN | U SR
7 — AW SH T
\ KS \WOEQS\ - \ l[ \ ~ J’Ei\ - ,o
s [ 227.93 237 ¢ -k A
h DK 2 o » 2‘{38 l 2278 | e > } _ng',@; Q;'V's\ . R= 60,00
o ts e SR & o |glgl= 26,8146
7 2631 TR 8B | d a 99 ¢
P e 45 Ho36 R60'092220_ 25667 -+ i S 3 L= 20,07 "~
SN - 12,63
22817 {1 \ 112/2?;22 i -
k 7 ) L
228.25 Y228 N ©)
856541, ., Q 81-
| 82 Q\é/ .
T SN
Bs/ nego
20
_3\ I b2
8539 411/1 296, 409 e
: S
SERN 2L TS NS
N N 22K 2 ~]
b & 228, N X \ “~t
_ 2 > S P>
547 6 NG _ S
22! 7/ - J S k SR
8.46 N ~ I~
65 g 4%0\0\ 229%%8% AV Ly 508 N S |
y ~\ K | 2067 \ 43" 22843 S SO N
/ \ 229 } y/ 2 \\
N\ AN // 2242
/ N \ -/ .
/ // b N\ // S32¢ ’. 5/ as —
/g N I =g s $ 407/1
// / [/ 498 2$.18 p
7 N /! .
/ ; '
/ { 229.0 / // :
/ . /
AN
\\ N / m /
- ( yd ya KIE e anom\ . V4 y




